Graphing Using Intercepts
Sketch a graph for each. Focus on two "extreme" cases (all of one, none of the other).

Comics (x) cost $6 and books (y) cost $8. You spend $24 total.

T-shirts (x) cost $10 and pants (y) cost $20. You spend $40 total.
Hamburgers (x) cost $5 and hot dogs (y) cost $4. You spend $20 total
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We can graph lines in Standard Form (Ax + By + C = 0) by finding the x-intercept and y-intercept. 
What is the value of x at the y-intercept?

What is the value of y at the x-intercept?



EX/ Determine the x- and y-intercepts for the following lines, then graph them. 
a) 2x + y = 4





b) 3x – 4y + 12 = 0



[image: image4.png]



  
 
[image: image5.png]




_1363410393.bin

